
Elementary Test Version 3 

MIRANDA HART: MY PERFECT WEEKEND 

I go to bed at 10.00 and sleep for ten hours. On Saturday morning, when I get 

up at 8.00, I'm very hungry, so I have breakfast in a cafe. After breakfast I do 

exercises, and then go for a long walk next to the sea. In the afternoon I go out on my 

boat and have a picnic. I watch birds and enjoy the quiet - just me, the birds, and the 

sea. In the evening I read. I don't have a TV in the cottage. 

On Sunday morning I listen to music then go for a really long walk to a pub, 

where I have lunch - a real Sunday lunch with a roast and lots of vegetables. I leave 

the cottage at about 5.00 because I don't like driving in bad traffic. Back in London 

on Sunday evening I go to the cinema. I like my job, but it's difficult. After a lovely, 

relaxing weekend I don't really want to go back to work on Monday morning. But it's 

fine - I work with nice people. 

1. Answer the question. Why does she leave the cottage early in the afternoon? 

A) Because she enjoys the quiet. 

B) Because she works with nice people. 

C) Because she wants to go to the cinema. 

D) Because she doesn’t have a TV. 

E) Because the traffic is heavy. 

2. Complete the sentence. She doesn’t … 

A) work with nice people. 

B) go to the cinema at all. 

C) go out in the morning. 

D) have TV in the cottage. 

E) eat in a pub. 

3. Choose the sentence with the correct word-order. 

A) my job it’s difficult, but I like. 

B) I like my job, but it’s difficult. 

C) I my job like, difficult but it’s. 

D) my job it’s difficult, I like but. 

E) but it’s difficult I like my job. 

4. What is TRUE? 

A) She goes to the cinema on Saturdays. 

B) She likes her job because it isn’t difficult. 

C) She walks her dog along the sea in the morning. 

D) She reads in the evening. 

E) She doesn’t eat vegetables. 

5. This text is mostly about... 

A) seaside cottage 

B) woman’s work 

C) woman’s favourite films 

D) picnic 

E) woman’s weekend 



 

 

 

6 Choose the correct variant. Brian _____ £45.000 a year. 

A) earn 

B) earns 

C) do earn 

D) does earns 

E) earning 

7 Choose the correct variant. I ____ very hard last week. 

A) works 

B) work 

C) is working 

D) are working 

E) worked 

8 Choose the correct variant.     The today’s party is great! Everybody ____it. 

A) are enjoying 

B) is enjoying 

C) am enjoying 

D) enjoy 

E) enjoyed 

9 Choose the correct variant. I’m scared! You drive too ______! Slow down! 

A) early 

B) fast 

C) hard 

D) good 

E) late 

10 Choose the correct variant. Can I have _____________________ milk, 

please? 

A) any 

B) some 

C) anything 

D) something 

E) anywhere 

11 Choose the correct variant. The news is bad, but it could be ___. 

A) as bad as 

B) the worst 

C) worst 

D) worse 

E) bad 

 

 

 

 



12 Replace the words in brackets with the correct pronoun: She looked at (I 

and my friend) again. 

A) him 

B) her 

C) it 

D) us 

E) them 

13 Choose the plural nouns 

A) water 

B) strawberries 

C) apple 

D) boys 

E) uncle 

14 Choose correct sentences 

A) Sister me my than younger is. 

B) My sister is younger than me. 

C) Me sister my younger is than. 

D) Than sister my younger me is. 

E) Is your sister younger than you? 

15 Choose the correct words: How many ____ do we need? 

A) pasta 

B) apple juice 

C) sandwiches 

D) chocolate 

E) eggs 

 

16. Choose the wrong words 

A) amazing 

B) terrible 

C) excellent 

D) good 

E) awful 

17. Choose the correct answers. In ________days are hot and sunny. 

A) summer 

B) November 

C) Friday 

D) July 

E) winter 

18. Continue the list: amazing, great, excellent, _____,  _____. 

19. Answer the question. Write a full sentence. 

How do you travel to university? 

 

20. Write a suitable variant for the word.  to work _____ 

 


